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Missing Decimal Subtrahends

Find the missing decimals.

1.62.5 - =

0.91.2 - =

1.12.8 - =

1.41.9 - =

4.35.5 - =

1.53.8 - =

0.81.4 - =

1.32.9 - =

0.95.6 - =

1.23.1 - =

3.65.2 - =

0.56.8 - =

1.93.3 - =

2.75.4 - =

1.73.6 - =

4.65.1 - =

5.38.2 - =

4.96.3 - =

0.71.8 - =

1.62.9 - =

2.26.7 - =

0.50.9 - =
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Answers

Find the missing decimals.

1.62.5 0.9- =

0.91.2 0.3- =

1.12.8 1.7- =

1.41.9 0.5- =

4.35.5 1.2- =

1.53.8 2.3- =

0.81.4 0.6- =

1.32.9 1.6- =

0.95.6 4.7- =

1.23.1 1.9- =

3.65.2 1.6- =

0.56.8 6.3- =

1.93.3 1.4- =

2.75.4 2.7- =

1.73.6 1.9- =

4.65.1 0.5- =

5.38.2 2.9- =

4.96.3 1.4- =

0.71.8 1.1- =

1.62.9 1.3- =

2.26.7 4.5- =

0.50.9 0.4- =


